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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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1. Answer any five questions from the following : o 5x3=15
e § @ Frdl o v & S AR
(a). What do yo.u understand by ‘inference’ ‘7 How is it differeﬁt from ‘argument’ ?
Expfain.
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() How is a proposition different from a sentence ? Discuss..

T qha fed 9 ¥ &9 = dar § 2 faaem st

(¢) Under what conditions can a deductive argument be called a ‘sound’ argument ? Explain

‘i with the help of examples.

| o ofifeafed 4w frmers gfw ‘9|’ gfda Feardt € 2 e dfea

e FfT |
f (d) What is the fundamental difference between a deductive and aﬁ inductive argument ‘7
E.xplain.
ﬁﬂmmamwmmgﬁﬂvﬁﬁwmﬁm% ? A &Y |
(¢) How is an argument different from an explanation ? Discuss.with examples.
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(/  Write a short note on dilemma and the ways to refute it.
fgfoen qeon oyl & yeRl W ww wfiw feoht fafew
| 2. What are the rwo different senses of ‘meaning’ of a term ? Explain. o 5
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State the distinction between a ‘term” and a ‘word’. Illustrate your answer with examples.
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State the different kinds of definition and explaiﬁ any two of them by citing thé purpose

they solve. - 5
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What main purposes are solved by the use of language ? Discuss. 5
o H wE ¥ F g yaeE fag da € 2 fasem wifew |

What do you understand by agreement and disagreement in belief and attitude ? Explain. 5
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What is meant by ‘distribution of terms” ? Explain which terms are distributed in A, E, [ and

[N

O propositions. - - | , 3
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Write the following into their logical form (do any three) :
frfafed & 7% dfes @R 8 fafer (F8 4 @)
() Soldigrs are never dishonest.
fqud ot o Aw T A
(if) Politicians are corrupﬁ |
ToHif o 2§ |
(iify Every Indian is rich.
Y& YRAE g % |
(iv) Not everSI snake is dangerous.

g% 94 WA el el | R

(v) Only members can use the front door.
hael TS & SER I WAM FL THA § |

(«) -If the following proposition is false, what can be inférred about the truth/falsity of its

opposites ? - 3

Some students are intelligent.
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.~ (b) Explain the problem of existential import. » - ' 3

(@)
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TcHE aread i me #r AR Hifs |
Give the contraposition of any two of the following : . O 2x1%=3
e § @ Fdl @ % W AR
(/)  Some Japanese cars are not expensive.
EXE) S wR dE T E
(if)y  All journalists are peséimists.
Tt TR fRemet §
(zif) Some musicians are singers.

FB TdHR TIF & |

If-"No soldiers are officers’ is true, what may be inferred about the truth or falsehood -

of the following (any nvo) : R 2x1%=3
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() No soldiers are non-officers.
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(ii) Some soldiers are not non-officers.

% o 431—34151:{1 T
(iiiy Some non-officers are non-soldiers.

w5 FA-IFw -faud T
Identify the major term, minor term, middle term, the mood and the figure of the
following syllogism : _ ' : _ 3
ﬁtrf%{f@amwgﬁﬂaﬁmwua,wqa,nmw,maﬁm
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Some evergreen trees are objects of worship, because all fir trees are evergreen trees

and some objects of worship are fir trees.
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Test the Validity/Invalidity of ahy two arguments by using the rules of syllogism : 2x6=12

i & fem & oEr frefafes § 9 fel & gfwal &t duay
AYa Sirg HIfGQ
(iy  All supporters of popular government are democrats, so all supporters of popular

government are opponents of the Republican Party, in as much as all democrats

are opponents of the Républican Party.
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(i) Some reformers are fanatics, so some idealists -are fanatics, since all reformers

are 1dealists.
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(iify No criminals were pioneers, for all criminals are unsavoury persons and no

. pioneers were unsavoury persons.
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(¢) | Test the Validity/Invalidity of any oné of tfle following by means of Venn diagfam: 5
frafafen & ¥ fFdt wa *1 Juay/e@yud 99 YEifad & wem § S|4
Fifery - |
(i) . EAE—IV

(i)  AOI—IL
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10.  In what mood or moods, if any, can a first figure standard form categorical syllogism with
> ‘ )

a particular conclusion be valid ? 5
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(3TerE)
Prove that the major premise must be universal in ﬁgure I and ﬁgure I o.f syllogism.
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